PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2011
College of Sciences
Section 1 Quiz 9 28 April 2011

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

A long straight wire is carrying a constant current “I"” in the direction as shown in the
figure. A metal bar of length “L” is moving with a constant velocity “v” parallel to the
wire. Find the induced emf between the ends of the wire in terms of the given
parameters. Indicate which point has the highest potential.
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PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2011
College of Sciences

Section 2 Quiz 9 28 April 2011

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

A long straight wire is carrying a constant current “I” in the direction as shown in the
figure. A metal bar of length “L” and a square loop with side length “L” are moving
with a constant velocity “v” parallel to the wire. Find the induced emf between the
ends of the wire and in the loop in terms of the given parameters. Indicate which
points have the highest potential.
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PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2011
College of Sciences
Section 3 Quiz 9 28 April 2011

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Consider the U-shaped slide-wire generator under the uniform magnetic field of
strength B as shown in the figure. If the slide-wire moves with a constant speed “v”,
find the induced emf between its ends in terms of the given parameters. Indicate
which point has the highest potential.
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Closed book. No calculators are to be used for this quiz.

Quiz duration: 10 minutes

Name: Student ID: Signature:

Consider a square loop in a uniform time-varying magnetic field, for which the
magnitude of the field varies with time according to the graph shown in the figure.
Sketch the graph of the induced emf in the loop as a function of time. Indicate the
directions of the induced current at a given time.

B()
""""""""""""""""""""" square loop in a uniform magnetic field
X X X X
] L.
t X X X X
‘ L
X X X X
X v 4 X X
dt :
268 4 b a-28k 46, TSRS
R g, = -« PCES
|
1 G = Sotme” ZTKELRT
: i 3 r
. T ~¢ X
T 27 o3y 47 T R.2et  ATECHT
.
Y miiacee { - P
ke Bosn
(: -—
Ll— o
< 1ic
¢q) 2T =
oE
iq_ =~ 2



PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2011
College of Sciences
Section 5 Quiz 9 28 April 2011

Closed book. No calculators are to be used for this quiz.
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Name: Student ID: Signature:

Consider the square loop in a uniform time-varying magnetic field, for which the
induced emf varies with time according to the graph shown in the figure. Sketch the
graph of the magnitude of the magnetic field as a function of time. Indicate the
directions of the induced current at a given time.

square loop in a uniform magnetic field
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